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In

Rea10

[ ]: import pandas as pd

import numpy as np

import matplotlib.pyplot as

$matplotlib inline

import seaborn as sns
sklearn.preprocessing import StandardScaler
sklearn.preprocessing import PolynomialFeatures
sklearn.linear model import LinearRegression
sklearn.linear model import Ridge
make pipeline

from
from
from
from
from
from
from
from
from
from
from
from
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sklearn.pipeline import
sklearn.model selection
sklearn.model selection
sklearn.model selection
sklearn.model selection
sklearn.model selection
sklearn.model selection

plt

import
import
import
import
import
import

train test split
cross_val_score
StratifiedKFold
GridSearchCv
learning curve
validation curve

sklearn.metrics import mean_squared_error
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Question

T—IDRMOEERD /- Ty I THERLUET—5 Yy McDWT, FHHE0D:&ER, FHE
DEBOEHEDRICKDFIBEEEDERK. BEZTVW. TNSOFHBEZRW-ET
IWDOFEEFHIEEIT>TLEE W, EFI/LIX LinearRegression Zff> T I LY,

EDLSBERDITTTIRHHMEDERCIERZIT > IcONCDOWTHIRELTLZET W, &H
DI|EEREDIFRENTIENT D ENHEINEUNEBAN, BESNEIAHITZFDOEHELE
LTEWnTL eI,

LTFTIEHlE LT, alcohol & sulphates DFFHEICINZAT. TNSOREEZHITE
DELEREBEBRDIHEEZTCICERL. IhSORFHMEZAWVWTETILOFEE & iz
ToTWED,

wine = pd.read csv('winequality-red.csv", sep=";")

X=wine[ [ 'sulphates', 'alcohol']].values
y=wine[[ 'quality']].values

# 1ZE ERELIBETILD/IA TS >

pipe=make pipeline(StandardScaler(), LinearRegression())

# ZEIRFL

scores = cross_val score(pipe, X, Yy,
scoring='neg mean squared error', cv=10)

print( -scores.mean())

X=wine[ [ 'sulphates', 'alcohol']].values
y=wine[[ 'quality']].values

# 'sulphates'<& 'alcohol ' DX ZIEE R B4FHE
new_feature=X[:,0]*X[:,1]

# REEDEN
X=np.insert(X, 0, new feature, axis=1)

# 1ZEL ERELIBETILD/IN1 FZ1 >

pipe=make pipeline(StandardScaler(), LinearRegression())

# KERAL

scores = cross_val score(pipe, X, y,
scoring='neg mean squared error', cv=10)

print( -scores.mean())
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